N I 7
-.- SmartKeeda

= The Question Bank

[ Presents
TestZone

India's least priced Test Series platform

- JOIN -

12 Month Plan
2017-18 All Test Series

3399/-

300+ Full Length Tests

[ Brilliant Test Analysis
[/ Excellent Content

[ Unmatched Explanations

JOIN NOW

v

Al


https://testzone.smartkeeda.com/Test/Pricing

Cloze Test Questions Bank Exams (IBPS Clerk Pre & SBI
Clerk Pre)

Cloze Test Quiz 22

Directions (1 to 10) : In the following passage, some of the words have been left
out, each of which is indicated by a number. Find the suitable word from the
option given against each number and fill up the blanks with appropriate words
to make the paragraph meaningful.

In today’s world a stable power supply is (1) a basic necessity, almost a
fundamental right. India’s _(2) power shortage is a _(3) block to its progress in
becoming an economic superpower. Toshiba wants to play a _(4) role in raising
India’s power  generation capacity (5) conventional fixed speed
and (6) storage hydro power plant. As contributions of renewable energy
with (7) like solar and wind power are likely to rise, (8) excellent option is
to (9) Adjustable Speed Pumped Storage schemes which can absorb and
balance (10) in output and frequency. Let us turn India from a power-deficient
to a power-surplus country.

Questions:

1. Answer as per the direction given above:

A. allowed B.considered C.pondered D.neglected E. discarded
2. Answer as per the direction given above:

A.sharp B.heavy C.maximum D.acute E.intense

3. Answer as per the direction given above:

A. Building  B. staggering C.stammering D. offical E. stumbling

4. Answer as per the direction given above:



9.

A.

.absolute B.firm C.decisive D.negative E.indefinite
. Answer as per the direction given above:

.over B.through C.beyond D.of E.with

. Answer as per the direction given above:

.pumped B.fixed C.sent D.supplied E.drained

. Answer as per the direction given above:

.result B.storage C.places D.sources E.medium

. Answer as per the direction given above:

.next B.other C.no D.further E.another

Answer as per the direction given above:

reject  B.repudiate C.adopt 'D.seize E.support

10. Answer as per the direction given above:

A.

fluctuation B. changes C. variation D. transformations

inconsistency



Correct Answers:

1 2 3 4 5 6 7 8 9 10

B D E C B A D E C A

Explanations:
1.

Out of the given options ‘considered’ is the most appropriate choice.
Ex. In today’s era a cell phone is considered and has become a basic necessity.

2.

‘Acute’ is an appropriate choice here. We can use 'acute' to indicate that an
undesirable situation or feeling is very severe or intense.

Ex. The labour shortage is becoming acute.
3.

A stumbling block is a problem which stops you from achieving something.

Ex. France’s plan for enlisting Russia into a “grand coalition” along side the U.S. to
combat Islamic State faces a critical stumbling block.

‘Stumbling’ is hence the most appropriate choice here.
4,

Out of the given options we can straight away eliminate options D & E because
they both are referring to negativity while the context is positive.

We can eliminate the option A as well because if it had been used, article ‘an’
should have been used before it instead of ‘a’.

Now, out of the remaining options ‘decisive’ is a better choice.

If a fact, action or event is decisive, it makes it clear that there will be a particular
result.



Ex. The minister stated, “Aap will play a decisive role in 2017 poll.”

5.

The perfect choice is ‘through’ here because the verb ‘raise’ is generally followed
by it.

Ex. Sun Pharma is set to raise Rs. 12000 cr through debentures.

Ex. Mesco plans to raise capacity through take overs.

6.
The most appropriate choice out of the given options is '‘pumped’

In a pumped-storage plant, pump turbines transfer water to a high storage
reservoir during off-peak hours. The stored water can later be used to generate
electricity to cover temporary peaks in demand from consumers or unplanned
outages at other power plants

7.

Solar energy and wind power are two major sources of energy for us.
'Sources' hence is the best option to choose from the given ones.

8.

Out of the given options, 'another' is the best choice here.

Another thing or person means an additional thing or person of the same type as
one that already exists.

9.

Out of the given options, we can straightaway elinimate 'reject’, 'repudiate’ and
'seize' as they all are negative in context.

Now, out of 'adopt' and 'support’, 'adopt' is the better choice in given context.



10.

'Fluctuation' means an irregular rising and falling in number or amount; a
variation.

Though both the options 'fluctuation' and 'variation' are there but 'fluctuation’
seems a better choice after the verb 'balance’.
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